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YouGov Survey Results
Sample Size: 1037 Scottish adults

Fieldwork: 30th October - 1st November 2013

Total Con Lab Lib 
Dem SNP Male Female 18-24 25-39 40-59 60+ ABC1 C2DE

All Scottish Adults 1037 100 228 57 326 501 536 112 262 378 285 527 510
Unweighted Sample 1037 96 248 114 283 504 533 73 204 403 357 661 376

% % % % % % % % % % % % %

Do you think that workers at the Grangemouth 
petrochemical plant should or should have not 
accepted conditions such as cuts in pay (e.g. 
final salary pension schemes) in order to keep 
the plant open and retain their jobs?

Should have accepted these conditions 61 92 50 66 59 62 59 46 49 64 73 63 58
Should not have accepted these conditions 19 3 26 14 24 21 17 13 25 21 14 17 22

Don't know 20 5 24 20 17 17 23 41 27 15 14 20 20

Do you think the trade union, Unite, was right or 
wrong to resist the conditions offered to 
workers at Grangemouth?

Right - they were protecting the rights of their 
members 33 3 42 27 37 37 29 29 30 39 28 32 33

Wrong - they should have changed their position 
and backed down earlier 50 92 38 50 50 54 47 37 45 50 62 54 47

Don't know 17 5 20 23 13 10 24 34 26 11 10 14 20
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